
petal_width <= 0.7
gini = 0.658
samples = 95

value = [46, 43, 61]
class = a

gini = 0.0
samples = 27

value = [46, 0, 0]
class = c

True

petal_width <= 1.75
gini = 0.485
samples = 68

value = [0, 43, 61]
class = a

False

petal_length <= 5.05
gini = 0.215
samples = 35

value = [0, 43, 6]
class = l

gini = 0.0
samples = 33

value = [0, 0, 55]
class = a

sepal_length <= 4.95
gini = 0.124
samples = 31

value = [0, 42, 3]
class = l

sepal_length <= 6.05
gini = 0.375
samples = 4

value = [0, 1, 3]
class = a

gini = 0.0
samples = 1

value = [0, 0, 2]
class = a

petal_length <= 4.9
gini = 0.045
samples = 30

value = [0, 42, 1]
class = l

gini = 0.0
samples = 28

value = [0, 40, 0]
class = l

petal_width <= 1.6
gini = 0.444
samples = 2

value = [0, 2, 1]
class = l

gini = 0.0
samples = 1

value = [0, 0, 1]
class = a

gini = 0.0
samples = 1

value = [0, 2, 0]
class = l

gini = 0.0
samples = 1

value = [0, 1, 0]
class = l

gini = 0.0
samples = 3

value = [0, 0, 3]
class = a


